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Abstract

A consistent=co-rotational (CCR) finite element formulation for
geometrically nonlinear dynamic analysis of doubly 'symmetric thin-walled
beam with large rotations but small strain is presented.. ‘The element developed
here has two nodes with seven degrees of freedom per node. The element
nodes are chosen to be located at the centroids of the end cross sections of the
beam element and the centroid axis is chosen to be the reference axis. A
rotation vector is used to represent the finite rotation of coordinate systems
rigidly tied to each node of the discretized structure. The incremental nodal
displacement vectors and rotation vectors in global coordinates are used to
update the node locations and orientation of the element. The deformations of
the beam element are described in a current moving element coordinate system
constructed at the current node locations and orientation of the beam element.
Three rotation parameters are defined to describe the relative orientation
between the element cross section coordinate system rigidly tied to the



unwrapped cross section and the current element coordinate system. The
element equations are derived in a fixed current element coordinates which are
coincident with the current moving element coordinates. The perturbed
displacements and spatial rotation, velocity and acceleration, angular velocity
and angular acceleration of the current moving element coordinates, and the
variation of the element nodal rotation parameters corresponding to the
perturbation of element nodal displacement vectors and rotation vectors in the
current fixed element coordinates are consistently determined and expressed in
terms of the current element nodal displacements and rotation parameters, nodal
velocities and accelerations, - and™ nodal angular. velocities and angular
accelerations. The element deformation and inertia nodal forces are derived
using the virtual work principle,-the d’Alembert_principle, and the consistent
second order linearization of the fully geometrically nonlinear beam theory. In
element deformation nodal forces, all coupling among bending, twisting, and
stretching deformations of the beam element is considered. In the element
inertia nodal forces, the terms up to the second.order of time derivatives of
deformation parameters are retained.. However, the coupling between rotation
parameters and their time derivatives are not considered in the element inertia
nodal forces. In this study, the element inertia nodal forces are expressed in
terms of element nodal velocities and accelerations, and nodal angular velocities
and accelerations. Thus, the element inertia matrices may be obtained by
differentiating the element inertia nodal forces with respect to the element nodal
velocities and accelerations.

There is a slight difference between the present element inertia nodal forces
and that derived using corotational total Lagrangian (CRTL) formulation.

However, the effect of the difference may be negligible with the decrease of

v



element size.

An incremental-iterative method based on the Newmark direct integration
method and the Newton-Raphson method is employed for the solution of
nonlinear equations of motion.  Numerical examples are presented to
investigate the accuracy and efficiency of the proposed method. It is found that
the difference between the dynamic responses obtained using CCR formulation

and CRTL formulation is negligible for all examples studied.
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By g w, (j=12) Am v w b SBE jaE gk E o v 2w R E(2.17)
FPVEWASEj(j=12)2 &8 0;(j=12)8(223);'2 0 b &8
jengghie s Bi(j=L2) 26, &8 jn&E i N (i=1-4) £ 3
#c(shape function) = d # & Ekeh e & 3 57 v, 2w (j=12) » 2 %4
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X (=123 weha & > d HEAR B FSRDTED ST 00 ¢ %
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B enfies Uy ~ Uy & A S R HT U enR R & 84 o & X ™ % o
4 o
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FRE R 4 (28)% (29)3 T oy frdpy Ak o 401 R & S Emd g
Bt Emd il > 2 FAR S L B o L R O o Opy i MBI R
LT A AP o

(4) u; (i=1,2,3;j=12) > uj (Uj=uj > Uy;=Vj Ugj=W;)5 ~F

SR jehitHe Lu; el § B e F AR (i=12,3) 3 » s £
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B f0 o 5 Xt e

(5) 6 (1=1,2,3;=12) 6 £~ % *cff 380, 8 jchiE > O T
£71(2.23)5 > 0,8 0, %>+ (2.15)2 (2.16): » O A% Kfg i ® A F oA oy
§BLZ N FR2 ETR G U o FIR R R G hEd LR 0 T 0 &
B e X pheng v g o

(6) Bj(i=L12) » 4cW 24 “i7 » fi %A% 2 T phing 5
P=00,10x b rh & 8 B AR P2 R O R KBS B LB
4 4e(Bimoment) o By % 0f; &2 15k Sum B o

(7) 65 (=12,3;§=L52) 5 Oj=0, 0, ==W| ~ 65; =V, * £ ¢ 4,
T AF I S0 b8 EBLE O R ET(228)2 0 VB W, 5 (2.17)
FrveEwW AmE jmdgkiie A P Y O ;z By kil TR A F T hen
Rl o 2 Bhe d i & $FT J;a‘é@%ﬂw i B4 LR H 4 EmM]

T]

—\\

. v ey . PR s s
$H 5 F 00 A AEE A F AR X fhehg )

NN
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¥] & Hij £5
) R

B4 Em] LA TAF LK 8 E o

AV AAZERJ(J=L)HEN ~F &R LEKU ~ 4 > Op; 2

B (i=123)chj s B 58Uy ~ g ~ Spf 2 By 0 B¢ up L EE

A Ruf A ELRHAEMXC (=123 p e B0 LAF E B ]
e 47 A TR WX ([=123) 2 v g kETY 0 b
EP P2 R S B e B QS P EATR RS R g e

AGS BB RSP 2 PR A TF SR oA ¥ AE &G (j=12)
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CA R AU R ASS R T hA R ETe AR R AR R AR SR
B Uy 2 R 00 (1=12,3; j=12)(GE264) > Flh< ¢ ¢F
BEFETL Rl (29507 irA@? qfrA(piJ EAR o Y 560535"’”’

B&BA 5 2 EXS phenil 54 55 B U m*')%f”ﬂ&l IR &

*%EXF%éﬁJ:ﬂmﬁ@%,eﬁw’%@%&a&%%$%¥’
* 5 R &4 4 (Bimoment)B; - ~AGS B AU~ Ady B T 00

Tt e g A 9 e

26 ~FU%e iRk HEAFRG - ~FEBEH 2 T Sl AT
A< @ % €2 %2 (incremental iterative method) f# 2tk 44 T =

A

A2t o B H | B E R e AT PR R L BiRE 0 A% | BHE D

m
wau@x?ﬁ@,ﬁfﬂa”f?udaznﬁt LR TR L
%S 5 ,,%ﬂlﬁd’!fﬁﬁ’v‘v’ﬁ_s‘"#&—’y’ "aAG/%y}I_SmZ'J"
Xij 2 el e g e LR e £ AQY IET e 73

A2 T A 3 AT Ay Al
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‘_ﬁ
(ﬂ}
Rl
e
=
T
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D gD AR ST HEL AR R X s 4
0 (1=12) 5 (222)7 ¥ %% £0, L &8 J 2 &80 > d 0,2 %> 3

07 &7 =

Onj :Hnjnj (231)
SinGyjn ; elxelsj
A9 g Xl oo 2oy i X (1=12) phernll oo £
3T ELAF EEDK R KT d T IS B I
L e B -0 (v AXE b (FI25) @ R THET 5 X (12.6)

SETEE o PR X X B E 500 X o Xy e X fhEE

A2 AE AL F EAR X, (I=2,3)gheind i £ ¢ (1=223) 4T

T~ / 4
_ €, + €

= sy E (2.32)
Heil +ei2H

#o e (i=23,7=012) ux dheil =

Ik

By TR RE 2RI A Rl g ek g Sl
e kg o £ 0@ ([ =1:2) 4 7 % Xodh 3 1| Xy dherredk o £ 0 Bl d

(2.23)N 7 a0 L SEhdE Sl AT P T N8 6

d(2.22) - (224)~ 112 (231)5% B £80,(1=2,3; ]=1,2) 7 *

TR
O; =€ xe) ¢ (2.34)
2.7 #HE¢ 7k BtRE H e F B iRl %
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ra

0;=0;t)={a;i0 A3 (1=12) 2 w27 =~ % & 2 % & i
wed o 0;=0) (i=1,2,3,j=L2)2 [=((t)» B4 T ~% &g ] ¢ 5 ch

GRS TSP & £ N SRR SIS A T AR LSS & £

gx‘i

KL F o Wns Bl (Tl)t A4phid § = 7 > LFRESE ~F
s

T By 23 B ~deik BR ﬁ:étxﬁ'k}ijﬁim i r{]’bli?}:“’ﬁrﬂdh&

=

é‘é‘ﬁj.!;’i’&l)j(j:l,Z)ln\ RSl I - W sl s A o TR

"%
X
%
|l
=

TRFE AR L AFER IR OER o~ F T BRI U &
S;(j=12)fe* i > 7 d 25 &> 2 2 - K42~ Praufd it (consistent first
order linearization) /& = X Fd s e ~ 2 B ~ ~ F & Z34E S ¥c
Git+) (1=123;j=12)~ ~F=L ((t+q) » BRI FEFEALL oA -

Fr) ~r( AR A3 08 BARY LR D OHIE B
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AT ol e B F() 2 r) 2 P+ ) g r(t+ ) § 4o g

T ()="A 5 (Dr(t) + 1wy (1) (2.35)
F(t+A)="A L (E+ )AL, (Or(t+ &) + Ty (t + &) (2.36)
1A¥x :mAXx +11A¥x (2-37)
1 AV _AW
B / /
T PR =L 239)
AW ¢.I.1 + ¢.I.2 1
L/ 2 |
.  OAV | OAW
= / 0
0, - 5?% 1 _od ; QLY. (2.39)
AW Sy, + O .
L/ 2 g
I AVOAU AW AWOAT AV i
I
1y |- AV;AU +A7W5¢lm 0 ~A (2.40)
AWOAU AV
0 ——, A 0

10 A=A (D) 0 TG A+ ) 4 B L B 0 B 2k b e

A AF AR w el 2 BR e L F R
% AR B ARG AR

1AV 1 AW 1 oAV 1 oAw
Al:27(541521+§¢22)+27(5¢s1+5¢%2)+27(¢21+¢22)+ZT(¢31+¢32)
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# 30 4 Gn) + 5 0 4 0) 4 O (O = ) + 5 O )

AVOAW AW SAV b+ Sty + 5y,
+ - ) - » o =L
22 Y Pim fim ==
Fhie~FZET AT 2 GELHEA)
L+ &) =1+0Au +%Av +§A7WAW (2.41)
5AU:&.TZ —&Tl ’ 5A\7:§\72 —&71 ’ 5AW:&N2 _ﬁﬁl (243)

P15 A4 6B AV SR (EER) (1=12,3; =1 2) hif 15 o

P F ARV Rar A GER HE A)

A~ A~

O =01, (2.44)
_ % ;¢11 - 9;1 A 9;2 - 5?1 + 5?2 411 _ (022 —01) + z MW — (63— 031)
- % 0310051 + % 0320000 + %9215%1 - % 0035+ %A_V (022 = 6421)
+ 35 Oy =)+ L S+ ()

A AW OAW 0@y, + O
O =i+, + 00+ =+ 5y + %931 0300

Oh1+6py , N | Qitdy 0N

#0702 (L gy T B2 (g )
_AWSAT 1 1
\A;zu ~ 55100 5 h9%

. AV SAV Sy, + 0
Osj = s ==, + 03 ==+ Oy —%@21 +0,;04;
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_Opi1+0p, AW NPty AW
S () - ()

AV 5Au
+

+5¢2j)

¢2]5¢lj+ ¢l5¢21

(244); ¢ Se R EPARLG B dom 2 L AR 2 & Boadd Sl
élj(t) o » > P 71,-% ?ﬁﬂ@%ﬁéﬁﬁimﬁ 3%59” (i:]., 2,3) (J:]-, 2) :‘;%"Eéﬁ’ﬁé
KA B SO (t+ ) SR B P A B S0, (1) L > T

56; = 0y (t+ &) — 6;(t) (2.45)
PR ERAZ (AL 38)—(A. 43)5%

Av P G L A g éﬁgé*iﬁﬁzﬁﬁtﬁﬂ%é%i#ﬁ%@ﬁ 2~k

ZE A 2 SRR S licend o d (24087 7
ol =/(t+ &) -/ =odAu +5ATVAV (MTWAW (2.46)
d Bd~Z Bk (=42 3) e x7 o @B fx > v i
Y £
Ay = vy =dw; =0 (2.47)

§(2.21) - (2.41)% (2.46)3 7 @

A, = 51 = SAT + 5?" AV + 5@‘” AW (2.48)

4 (2.15) - (2.16) 7 ¥
565 =—3W| = (L+ £,)50,; + 0, 5%, (2.49)
565 = &, _(1+go)5¢9:,;J + 0y,

B g b P wphend =0 £ E 5 252195 0 06 (1=2,3]=12) %

(245):t 2 ~ A e 540 b~ R g ) g f R
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272 #HEAFAEDEER ~ EHE RS A F S LEHPFT ks
A2 ()R & O)HPER s o £ uy={l;,0,;,03;}={0;,v;,W;} ~
uj = {0y, 05, Uy 3 =405 V. W}~ 05 ={hj. bsj. 45} & ) ={dj. boj. 453
(J=L2) w2 apFrf t> 24 &8 AY DR~ F BHRY 8 i
B~8HYR2R - -BHLEER -FHENRR -
FE(t4+ &) =F() + 6F 2 Wt + &) =w(t) + S, » ¢ (2.35)—(2.40)5% » 2 A

FPELBAFFAARAR LR PEHERT 47 A

. . r(t+ot)-r(t
r(t)=lim r( liV) 1AXXOAXXr+0AXXr +1 (1) (2.50)
A—0 a
1
Ay = 1im Al ;&) 5 =P Anct Az = QT A, (2.51)
a—0
I 0 VeV W, -V |
Ag=0=| op| 0 JLode Bl o/ dutde ) (g
—Qy R 00 W, W+ 0
I 2 i
. AV?U AW AWAG AV
; 14 /2 /
MA_ |- A‘;ﬁu +A7WQX 0 - A (2.53)
AWAU AV ;
2 T A ° |
QX:¢11+¢12’ o,=-"2"M g 274 (2.54)
2 1
AT =0, — (2.55)
1AV 1 Aw

Al:__(¢21 + ) + ——(¢31 ¢32)+ Q (P01 + 820) - Q y (51 + 432)
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1 . 1 i 1 . 1 .
+2931(_Qy +¢1) +Zf932(—Qy +¢2) +Z(921(Qz —¢31) +Z(922(Qz —¢5)

B AVQy B AWQ),
2/ 2/

B Q50)N Y WL AR SR LG HER T B R AR A A (2

51); ¢ 2 YA, A #d A E Bk i B 4B (Angular velocity matrix) > F] &
2 ¢ A ERE A G R PG ARITI R %) Sl 0 & R WY 5 (2.52)
FY 2 Q0 #mREDA P 2O Q2 Q FAREIBEAEZAEHHTIAER
B2 Xiphen kg R o FlIEH S A F AR DE g ROF R (253)0 7 2
HAL PR ®F r 2 A2 BRI e~ AR id B o

AR AR (I121,2,3) 5% 5o T AR SR A X b HBE A

U1=Vj=Wj=0 (i=12) (2.56)
d(2.21) 2(240)5 7 @

. . L+ o) = /(t
0 -1 - A0
a—0

= AU+ Q, AV — QAW (2.57)

56 .
4 (2.45) ~ (A.38)— (A.43)5" 2 16 _|im?”(|:1,2,3;1=1,2)?%§

a—0
: : j b 1AV 1 AW
O, =0, = —% + @ 27(‘922 0y1) + ——(‘932 031) (2.58)
1 1 1 1 1AV 1 AW .
——‘931¢21 +— 932¢22 +— ‘921¢31 ——‘922¢32 ——(¢22 1) + ——(¢32 $31)
l AV 1 AW

+——(¢22 $21) + ——(¢32 $31)

. AW - ' +. .
0 =7+¢21 +¢112¢12 O3 — 054

+¢11;¢12(_Av )+ ¢11+¢12( AV i) AWAG 1, . 1
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e g |
0 =—7+¢3j—¢”2¢12 02+ 0>

_@1;@2(AW ¢) ¢11"2‘¢12(AW ¢§21) AVAU ¢21¢“ ¢1j¢32j

931 o 031¢.I.1

; +¢11+¢12
2

. AW
921=7+ 21

¢11+¢12( AV+(f7§3) ¢ll+¢12( AV ¢31)—AWAU —£¢31¢11—%¢11¢31

922 :7+¢ ¢l1 2¢l 032 _932¢.|.2

+ 28 J2r¢12 (- AZ + ¢ay) + ¢11J2r¢12 (- AY ¢32) — AWAU —£¢32¢12 —%%2%2

_ ; o (A;’_V + ) = 1+ o (AW + 1) + A\ZAU St + o ¢11¢21

6?32=——+¢53 fut ¢l 2050+ 0o

_ ¢11;¢l2 (Azw + oy ) — @1;@2 (AgW + ) +AV—§U+%¢22¢12 +%¢12¢22

#(2.15) ~ (216) R $HPE AcA 3B p g ] (j=12)2 57

b3 =W, = (L+ £,)6p + 0y (2:59)

9;1- =V, = (1+&,)03 +63&,
2 60;(i=123j=12)c (2587 Tk -

PAZY ERBAEDOELAE AR EHERT I (250)5
HEFHA RE > 273 TR~ FF ] AT R %) 54k 0 (2.50)5

SR AA T A7 S
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F(t) =PA L CA L r+A L PA L r+HA L P AL +0A L +0A T T (1)
= (Q+1A ) + (QQ)r + 2QF +F + 1y (1) = (A + QQ)r + 2QF + i + 1y (t)

(2.60)
0 -a, a
A=| a, 0 -ay (2.61)
—ay  ay 0
2 2
~07-0% 0,0, 0.Q,
Q0= 00, -0;-07 00,
2 2
0.0, 00, -QI=0;
+
Ay ¢112¢12 Q2 (¢21+¢22)——Q (fa1+03)
ayz—WZ_W1—2”2_“19y+QZQX
[/ [
aZ:Vi"l_z“Z;“lQZ—QyQX

B (2.60)57 ¢ G, 5 22 4Bl NG B L B A ARt B

Qe BQ25)F Wh ooyt ap P BB AE ERH AR B R X R

ulzvj:wjzo (j=12) (2.62)
Hr(2. 5T) S $PE T e ¥ 17

U, =Z=Au—'+QZA\7—QyAW=ﬁ2 —ﬁlw(gi +07) (2.63)
Re(2.58) 3 P pc A > T L VERE U F R PF § ARITI R ) ST
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1 AW

. . 4 4 1 AV .
‘912:—911:—%+% 27(6’22 ‘921) ——(4932 031)
1. . 1. . 1. . 1. .
) +=6 +=6 )
4 3101 4 32027 4 h1031 4 hoP32

iﬂ(@z d)+ EA—W% d)

921=7+¢2j+¢112¢1293j—931¢1j

(i + o) gy ) - 2AWA“ ~ it

—(¢511+¢512)(A ¢2]) 2AVAU +¢21¢11

521:7+¢' +¢ll 2¢l 9'31—931@1

+ (¢511 + (&12)(—% + ¢31) -2 AWAU - ¢31¢11

922 = 7 ¢'22 + ¢ll 5 ¢12 932 I~ 9'32&12

AWAU
- ¢32¢12

+<¢11+¢12)(—§+¢32)—2

. . +
Oy =——+¢3 — ¢11 5 ¢12 ‘921 + ‘921¢11

—(¢11+¢12)(—+¢21) zAVA“ + s

03, :——+¢3 ¢112¢l O + 020615
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AVAU

/2 + (1322¢;12

- (¢11 +¢512)(A7W+¢522) +2

\\\Xr

H(2.50) N $HPE I oA > A A 0EHE A R R PR € ABLES B ) Sl

T3

by =W, = (L+&,)0, +205;&, (2.65)

0;1 :V’J :(1+ 80)é3j +293jé0

Bl21¢ QBEAZY hEZ LB PR QB AT iht it g
TP R QB —Him o e AR Rl St rg s B AR AW o
Qg werPd Az aEt e r) ~r() L5 2R F %250
Qi wehFATE BF~Z B ehiY v E o T() 2r)hpd e A2
B) P o rg2r(t) v A g 4T

Iy = Xe; + Ye, + Zeq (2.66)
r(t) =X, (x,t)e; + V(X t)e, + W(X,t)es (2.67)
+ye5 +ze3 + 6, e}

V(X,t) ~ 2z WX t) & w B P A X (1=12,3) st chafE(L 24 &) y 2

27



B Q tx; dher x3 i fh o (2.64)50 ¢ = F E P gehimEi e E o T

FLQME» P e g  HAHAT Q Bi@Esd iz o

00, (x,t .
O x = 15( ){/r% )t T phenETR 2 e 2 S 0 o=0(Y,2) * 4
! X
£ %75 % % 5 (Saint Venant)dsd 30k o
AP F()EATENALAF AR SN ()T TLENBE
~F AR A RERE AT A LA AF AR i e E o ()
ATHZeHFAZREPEERE o

#(2.25)5%  » (2.67)5% > T A * 1T 3Y cosé, :1—%6?22 —%6’5 ¥ F

PaX (i=123) " pa BT

. 1 -, 1,
+ 2(02 C0301+93S|n 91)4'01,)((1—502 —503 )C()
1 : 1,
ry=V+ y[?92033|n 6, + 1—503)00391]
1 1 5. .
+ Z[E 6,0, CoS 6 - (1—5493 )Siné1+6,,6;0
1 1 5. .

+ z[(1—%6’22) cos 6, —%9293 sin61- 6, 6,0

A ¢ g % o R & A & * Green strain o & ¥ ¢ 1
&;(1=12,3;]=123) %7 Green strain > & ** LA A EK @) #T1 A2 23

J& 611 > €10 B &3 0 XA T AT
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1
&11= E(g{gl -1

1
£12 ZEg{gz (2.69)
1 ¢
€13 :Eglg?;
_or B @ or

=X ) oy’ gSZE (2.70)

#dr=rt) T.%>(2.68): -

g1

#(2.18) ~ (2.68) 5% 5 % (2.70)7 > E ARG S 42 B oA Tl 9T

v 1F gi VA o gij(i ,j=1, 2, 3) Yo 7F

1
011 =158 — (03 +05) + V(0105 + 0,01 £ Oay) 27)
+2(60,05  + 03015 +05 ) + O
O12 = 1 +&0)0; = Y(G,0,  + 60305 )

1 1
+ Z(E 02‘93,x + 593‘92,x — gl,x) + 91, xx93a) + 91,x93,xa)

1 1
O3 =—(1+&,)0, + Y(Eé’z@s,x +§9392,x +6 )
- Z(‘91‘91,x + ‘9292,x) - 01, xx92a) - 01,x92,xa)
g1 =610, — 03+ 0,0

1
O = 1—5(912 + 932) +0,,030

1
U3 =6, +§92'93 —0,,0,0

U31 =6105+60, +6, 0,
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1
Oz =0, + 59293 +6, 030,

1
O33=1- 5 (6’12 + ‘95) —0,40,0,

B (271):8 > (269)5 > FiFRF R LI o > VIERE
1 2
En=é&éntén

1
11 =& — YV xx — LWy + a)el,xx

1 1
5121 = 555 + WELO) 4« +E(y2 + 22)912,x

I R O o R = 10

+=Y V,xx'*'_Z W,xx"'_a) el,xx_yelw,xx
2 2 2

+ Zelv,xx + yZV,xxW,xx - wa,xxel,xx - Za)W,xxgl,xx

1 2
E1p =612 T &
1 1
& = E(a),y —2)6, 4

s 1
&1 = E[a),ygoel,x + (a)_ ya),y)gl,xv,xx - Za),y‘gl,xW,xx + ww,y'gl,xel,xx]

1
+Z Z(V,xW,xx - W,xV,xx)
1 2
&13 =&13 T €13

1
‘9113 = E(a)z + y)‘gl,x
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s 1
t18 = E[a)’zgoel’x * (w_ Z(()12)(91,XW,XX - ya),zel,xv,xx + a)a),zgl,xel,xx]

1
+ Z y(W,xV, XX V,xW, xx)

B oefi(=2,2,3k=12) & &7 2 k=7 -

o

283 BAF ¥ ¥
AFETEY B R

B NRA o BQTID)—QRINE B AT E

A
172 2 D’Alembert R@ie A~ F 8N 4 5 707
5(911 = 55]91 + 5(9]]:1 (275)
5‘9101 =0y + N i =Y) +OW 4 (=2) + 00, (@
Sty = 5o (£ + @0 )

+ &,Xx(yzv,xx + yZW,xx + Z91 - ya)el,xx)

+ dN,XX(yZV,xx + ZzW,xx y y‘91 — Z(‘)Hl,xx)

+ 591(Zv,xx - yW,xx) + 5‘91,x(y2 + 22)el,x

2
+ 591,xx (a)go - ya)V,xx - wa,xx +w el,xx)

8615 = 061y + 061y (2.76)

1
Sery = 55‘91,x (0y—12)
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1 1
55112 = 5‘90 (Ew,y‘gl,x)'i'éw,x(_zzv,xx)
1 1 1
+§N,XX[ZZV,X —Ea),yzellx]+&/]x(zzw,xx)
1 1
+§‘/,xx[§(a)_ ya),y)el,x _ZZW,X]
1 1 1 1
+5917X[Ea),y60 +E(a)— Yo )V —EZa{yW,XX +Ea)a),y91,xx]

1
+ 5‘91, XX (E o y'91, X )
5813 = 56‘]?3 + 55]:!-3 (277)

1
é“9103‘» = Eéel,x (a),z + y)

1 1
55113 = 550 (Ew,zel,x) + MX(Z yV,xx)
1 1
+&N,xx[_z YV +E(a)_ Za),z)gl,x]
1 1 1
+§V’X(_Z yW,xx) +5V,xx(_5 ya’,z‘gl,x +ZyW,x)
1 1 1 1
+591,x[_a),z‘90 +_(a)_ Zw,z)W,xx T A ya),zv,xx +_ww,291,xx]
2 2 2 2
1
+ 501,xx (E a)a),zel,x)

d (2.15) ~ (2.16) ~ (2.26) ~ (2.27) -~ (2.49) ~ (2.20)3t > ¥ ¥

Se, = G, + o Gy + kG, (2.78)
1
G, = I{_l’l} (2.79)
1qa .,
Gp =1 |7 Npv dx (2.80)
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la .,
G, =Ij_1NCW’de

(2.80); ¢ Gy~ G, POl EEARITN R kA P P A Ak o

29 ~ % &84 2 f5 i

A Jl* 22 A EE s D'Alembert RIZ 2 g REAE
D EERAS4 2 G ERIE 4 o d g & g g2 (corotational formulation) >
PREBE L AFHOA) - TR ARSI LAEDER - 0 T T ¥
2 G BERA 4 2 F 4 T RS (consistent linearization)#-H #
Lo Z T LRAT 24 A0 FT mRAA ¢ IR D e B Sz - R
F) AR 2 d2 4 s ﬂﬁﬁﬂﬁ@%ﬁﬁ%ﬁﬁﬁ%ﬁlﬁﬁﬁpmwi
AL RPEEFIHZXFRT R REEE O EEFAER ) A E e
iﬁ’ﬁﬁ‘ﬁﬁﬁﬁﬁéﬁﬁ*?’@£%¢ﬁ$~aﬁ$gﬁ%#&’
AR PR AR g AT E o o A Y T IR
SRNFE I 0 WA Y R SRR B RER s B gl o b F D
MEH P R BESTE T AT L AR R A P RY 2
# RIS R o

d D’Alembert Bz g RIE > ¥ 5

-

Sqyfy = [ [(0116811 + 201,061, + 20130613) + pST FlAV (2.81)
&q ={0uy, &y, Suy, 5y, P} (2.82)
f,=t; +f; ={f{,m{,f{, mJ, B} (2.83)
£, ={f°, m{® £f° m$° B} (2.84)
f, ={t/ ,m{ £ mf B'} (2.85)

ANy 3 LENALARAFE S A F SRR EF B E

ouj ={U;, 0,0} » 8 ={6¢, 045,045} » B={P1.0f} > 1=12> du; 3
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FEIHFRAG AR S B R 0 85 EE ] 2R HAT AR

B e e B PLPFRESI R B At AGR |
#8 o fy A MR Ny k H B 5 B ) fof, A5 Ak EELa)
= , D D D

LR R {ff’i AP D] mP =t gD P BO =B, B, |
I A | I | | | :

2 Bj (i=1,23) (j=12)2ga25&¢mp () 2#pga4 ()2

g

B4 oV 2 A8V E Al 6 (121,2,3) 22242 BE(L(272)

-

—(2.74)3%) > ey b R F 2 R RENRA (L (275)—(2.77):) > 01(1=1, 2,

>

3) A ¥R &% - 45 Piola-Kirchhoff A ep i <42 %R > oF 54
FE A F R R A ((2.35)N) 0 ¥ i G HEce i B (R (2.60)5) o
v PR 5 S AR A = R B S
o1 =Eé&pr 010 =2G&, 2 013=2Gé, (2.86)
H ¥ E & X %¥(Young's modulus) » G 3" 4 i%dic(Shear modulus) °
Floe (1=1:2,3)% 2 & B Sl & SN # & ~ % Ak L& 5

TARE a2 i 0 AT E(2.81)50 i E

&lzf¢D = &ltgfop = J.V (0-115811 - 20-125812 + 20-135813)dv (287)
Sqif = [ por'rdv (2.88)
8y ={du;,M;,5u,,0,,P} (2.89)

(2.90)

fy ={f/°, m®,£;°, m3°, B°}
B dqps - LE&E¥BEAFRENRE~ZEEFH B E
Suj ={oUj, o), W} » 505 = {56y ~dw], &} » B={5B. B} - Suj 5 &
JB A AR PR E P 00 5 ~E 2 E L AL hifd

£ 02O R RAENQINS L WAV ALK SR SEeE . O 5~
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EEFASE P HR o ) A HREN Ny AR SRR

AP =P P 1P m® =P mP mPY s du; ={ou;, vy}

B

|k

2=

59’} :{5,911.,_&,\,'],5\,'1.}, j=12 > f9~ m 2 By (i=1,23;j=12)= 5 n

258 7 WP o
(2.89):% 2. 092 (2.82)5% 2. Oy F 11 T eRE Tk
& = (Tyy + Tr)oq, (2.91)

(2.91) 7% chit F & 44BY » Ty, ~ Ty (A 3 & rit4-B2 (B.5):* (B.13)
P
1]* (2.91)58 2 (2.87)5% » 7 K8 (2.84)55% (2.90)58 P ~ % & EL A4
& B f¢ fg 7_ [ (A F
£ =(Tg,+ Ty (2.92)
f¢Difi’f6? (b O B s B e C P -
TR R AR ELF SRR R L) P L0 (=1,
2, 3)% 77 & O chdnlicy d (8T E N, S (292)0 RFL) > K
HiFAz 0 291 3P S lHE~ ”Q‘L e @,ﬁf(/ﬁpgt, #5‘5_7\‘1‘15\'5(]¢

S o (288)N A E L, > HAHBR AL 292 HRp o

291 ~FZ H5E%Ad v g2 o
SAES T 0 A (289N 2 TR T e B F e £
dug ={dy,du,} o dup ={, N, N, Ny} (2.93)

u, ={W,~W, W, ~W,} » dug ={061,P,,00,,,50,}

B9 su;(i=D,c d) 5 % H(226)—(228) % ¢ 2 u, s R
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$t ou; (i=a,b,c,d) s & 8%7,4 5 £ (i=a,b,c,d)¥ % 74

-
10 ={6" 123 > £ ={f;0.mi7, {2, mH} (2.94)

D D D D D 75 MO 5D D oD
f7 ={fs1 .myr, f3 ., myz} > £ ={m7,B,m3,By}

F% (2.93)% (2.94)5 > (2.87)A T e =

Sulf® + subfP + sulf® + sul P

(2.95)
= J‘V (0-115811 + 20-125812 + 20'135813)dV
4-(2.86) 5% & » (2.95)% 7 /@
sulf! +supfy + sulff 4 cultf
a‘a bb cic d*d (2.96)

== EJ- (J. 8115811dA)dX iy GJ-[4I (8125812 + 8135813)dA]dX

4 (2.72) ~ 2.75)73¢ 2 [ydA=[2dA= [yzdA=0,[ odA={yadA= [zadA=0+

#2.96) 5% ¢ 2 [ £306,0A % 75 &

I £11061,0A
= 5c,{As, + g As? +% 1,60, +% V3 +% | Wiy +% | 0% (2.97)

+5‘91[(|z - Iy)V,xxW,xx]
1
+00) [l peoth x + 06 (1,646, « +§ K|6’fx)]

+ 501, XX [(1 + 350) I a)‘gl, xx T 3aa)yzv, xxW, xx]
+ &/,xx[(l"' 5o)|zV,xx +(1, -1 y)elw,xx + 305a)y291,xxw,xx]

+ &’\’,xx[(]-""go)I yWixx + (I, - Iy)é)lv,xx +3aa>y291,xxv,xx]
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I, =[z°dA, 1,=[y%dA, K, =[(y*+z°)%dA (2.98)

|, =[0’dA a, =[0’dA a,, =[oyzdA 1, =1, +1,

£0 AR EG G QNS FF BB AT K R G, hz S
d (273) ~ (274) ~ (276) ~ (2.77) ;& ¥ & (296) ;& ¢ 2z

[ 46120815 + £136813)dA £ 7 =

I4(812§6‘12 + &£130613)dA

1 1
:&/,x(_i J‘gl,xw,xx) + &N,X(E‘]QZLXV,XX)

1 2.99
+5‘91,x[‘]91,x +E‘](W,xv,xx _V,XW,XX)] ( )
1 1
+5V,xx(+§‘]W,x91,x)+&N,xx(_§‘]v,x01,x)
J=[{l-z+ 0, +ly+o,]’}dA (2.100)

#-(2.97) ~ (2.99):¢ * ~(2.96):8 ¢ o EEF A F S B ST - K o d
(2.96)7% ch% 5.3 Bepou; (1=8,0,C,d)2 Blicst Sz B % > v RF ¢

ouj (i=a,b,c,d)aghg;+ » & 5

£ =[A - AEg,]G, (2.101)

A = AELs, +%AEL5§ +% El, [ 67, dx
(2.102)

1 1 3
+5 Elyfwyzxxdx+§Elzjvixdx+5 El, [ 67 xdx
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P = £PLG,

El,(1+&,)[Np V4 dx
E(1, —1,)[ N} 6w, dx+3Ea,,, [N} 6 W ,dx

1 14 !
+§GJ j (N} 6,W,—Np 6, W, )dx

El, (1+&,) [Nt W, dx
+E(1, —1,)[NE OV o dx+3E a5 [NE 61V 50X

1 ! "
+ EGJ I(Nc el,xv,xx_ Nc el,xv,x)dx

fg° ={GJ +El &5} N6, ,dx+ El , (1 +324) [ N{ 6y, dX

+3E 4y, | NG VoW X+ E(1, = 1) [NV o W €l

+%GJJN;]I (WM g Ve W YOXF %EKI [N 67 dx

(2.103)

(2.104)

(2.105)

g R g A AL 0517 (2.101) — (2.105) 5 ¥ e A7 —— =7

2380 F AV AW, 2 — I s A R — -

"2 38 0z R R RLZ

- IR I A F ] G AR R A2 P Mg I £ % - (2.105)

A AFRARZIE L O 2 =T o

SR 4 v 1,7 0 d (2101)—(2.105)5 2 P (i=a,b,c,d) e & @

A FIED WY D 8 S dieins ST R VA 2 2 S0 ¢ id d (2.92)(B.5)

. 4% > s » D . _ N
R 3 2 3200 S AR
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f¢ —(TR+T )fg +(T9¢+T9¢)f (2.106)

B £ s S gt e B 1Y - 0 Ty~ Tg, % Tjy 5 (29158 ¢ Ty, e
?:K = S :;('IE ’ t-L(BS);T\‘ e 75 7{5& ° ‘?173»\71 :V_VJ 203’ ¢|J:0 L SV
To =0 S &7 & 1725 T L HA R {2 ARIRE
4 840 e 2 9642.103) 2 (2.104)58 ¢ 2 fPGiL (i=b,c) & £PGL R F

£4 (C10)—(C.13): ¥ PGyl (i=b,c) (j=2,4)5 » (2.106)5* ¥ 1t ix

£, = (Tp, +Tgy+ TR, (2.107)
1o 00 L fDa (2.108)2 (2104)5 ¢ £ PG L (i =bve) 7 & £PG,L

202 ~ % &ghiidd v 22 E
SHES T > A2 K282\ 2 Ny BREEH e E
suf (i=a,b,c,d)
suf ={dUy, 8} > Suf ={0, 5y, &y, sy} (2.108)

suf ={0, 5gyy, Wy, 54,5} 5“?; ={0¢11, 0P, 6412, 0}

ot cuf (i = a,b,c,d)sg H&eE R4 »Ef (i=a,b,c,d)7 & 74

T
£ ={t7, 193} > £ ={ff}.mf, £, mg (2.109)

£ ={f{ . mjy. 5 .mp} - 1§ ={mf1,B{' . m3.B{'}
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g2 i m' (1=123;j=12) 5 &8 | AT~ % AaEX (=123
ff i 2 H BT OB PR RS BB (j=12) 5 &8l S
41 * (2.108) % (2.109)5% - (2.88):¢ 7 sx B =
suf'td +ouf'td + 't +ouf'tf = [ por'rdv (2.110)
FEFEGIRSENELAE FEAE R PE AR R - X
7% pld (235)  (2.36)5% > SFT AT
ot =PA,, —Dr+6r + oy (2.111)
10N B (239)5 = R oy = {00, O, W} A § BRI EI S E AR
G A B or QR A B R A B s » B or e 4(2.68)
NTEHR O EE R BT L e
R E EEX=L2,3) #h w2 B BT AT
o, = NLsul — yNftou! —zNEsul + oN suf (2.112)
&, = Npouf — 2Ngou + o6, Npduf

o =Nisul + yNyoul + 06, Nioul
N, ={—1_2§ l+"Z} (2.113)

He Nj(i=h,c,d)2 &2 £(2.26)—(2.28)~(2.29)5% ¥ % % > dul~ sul ~ suf ~
Suff & %(2.108)5% ¢ % & o (2.112) —(2.113):\ erde X A4 D o
FEFTIRSEDEXRE FEAF R PFEARBITF - IE

P1(2.60)7 2 r EF XA ZAEX(1=L23) > w2 A E ¥ &7 &

h=0 ++IIO (vf(+w,x)dx—j(;((v +W2)dx (2.114)

#YI200, 0, 0+ 2600~ N ol + doadhy +%Qy _ ¢122¢21)
2AU . b — b 4
_N4(—¢32 —¢22¢12 +%Qy——¢ﬂz¢22)

40



. L e, S .
+2[2V, 0, — W, +2£,W, + N (25,65, —§¢11¢31 n 0 2¢12 Q, + ¢122¢31)

+N; (26,62 —261512%2 +@Qz +%)

_a)‘gl,x[w,xz +‘9;12]
N2(§¢521¢511—%+25'o¢331 +@Qy)
+ N4(g¢22¢12 —%JF 2¢00s +@Qy) - (67 +\7,§<)
+2[-V, —‘91 Q, (W + Nygoy + Nagy,)
—Q, (Vy — Ny — 3¢532)]+2a’\7,x§1,x
¢12¢31 MQ )
2 Z

+ 28,y +

Fy == Ny (= gy 4 25

3. y . = = b
- N4(_E¢12¢32 + ¢112¢32 +28,0 +%Qz) 1 Z(W,i +‘912)
+ Y[—va,x + 51 +Q, (Wx + N1§’521 + N3¢522)

+Qy (v, — Nidhsy =Nads, )1~ 200 0,

oo VWV, Wy~ 6~ 6 % E 2 (D.38)— (D.AL) - &, %% >+ (D.25)
;\] ’ Uj \\7] ‘WJ ‘¢lj ‘¢2J ‘¢3J ‘UJ ‘\7] ‘WJ ‘¢_|_J ‘¢2] ‘¢3j(.l:l’2)';‘1L
#0272 8 o (2.114) 5% e 35 8 5445 D o

#- (2.112) ~ (2.114)58 2 [ydA=[zdA=[yzdA=0 [wdA=[yodA=[zadA=0
B~ (2110);8 E 54 s > ¥ RT3 %A S8k E 3 > (2.110)5¢ ¢

[, porFdv = £ 7 &
[, por'TdV = sul {pA[ N, N}iijdx (2.115)
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+ AN (7,7 + W, 2)dx - [, 2+, > )ax]dx}
+ Sl {pA[ Nyidx + pl , [N} (7, +2W 8, — 2847 )
+ Zpla)J‘Ni)\;/,xgl,x‘gl,de

¢12¢21 +2é0¢31+

+PAJ-Nb[N2(—¢21¢11 @Qy)

+ N4( bootir — ¢ll¢22 + 2605 + A ;%2 Q,)]dx

+ ol szE[Né(géuém ——¢212¢12 +280fs1 + o~ ;%1 Q)

RV LT
N4(§¢12¢22 - ¢222¢11 +26003; + wgy)]dx}
+ Sul LA N Wdx ol , [ NG, - 20,6, _z%“wx)dx
+2pl, [NLW 6, 6 ydX

+ AN Rlg gy # 208 )

+ PA[N[-N (*§¢12¢32 += ¢11¢32 + 260(a0+ (Ll ;@1 Q,)]dx

+ 289y +

+P|y_[N::[—Né(—%¢531¢511+¢122¢31 ¢ll;¢12 Q,)

Puds
2

L3, . . b o —
NG dtho + B2 1 260, 4 20110 i
+auf{olp [Ngbdx+ pl,, [Ny 6, ,dx
+p(|y_|z)INdW,x\7,de
_pla)IN’d (W,x2 +\7,x2)‘91,xdx

+ pl PINd [Q,(Vy - Nids1 — N3ds,) + Q, (W, + N1d1 + N, )dx
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Iy =[z%dA |1, =[y?dA1,=[0’dA 1,=1,+1, (2.116)
d AL menEta ff o [()dx gk A FEOTIL -

#-(2.115)58 &~ (2.110)5 - S84 &2 suf (i=a,b,c,d)ehizdicp % - B

a4 » 81 (i=a,b,c,d)¥ &7

f, = pA[N,Nyii4dx (2.117)
+ PAINGIJ (7,7 +W0,2)dx — [V, 7 + W7 )]

fy = pA[Np¥idx + pl , [Ny (7, +2W 8 —2&07 )

+2pl w.[NE,V xgl,xel,xdx

+ PAINGIN, C gl = 2028 2 112

+ N4(g¢522¢312 = ¢112¢22 + 230&32 + P ;¢12 Qy)]dx

+ Pl [N INSC gy ¢ 2056, o2~ By

+ Nﬁ(g¢12¢22 - ¢222¢11 + 2<‘/"o¢532 + P ;%2 @ )]dx

1L = pAJ NG ply [N (0, 20,8~ 2, )

+2pl, [NLW 6, 6 (dx

+ PAch[— Nz(—%¢11¢31 + ¢122¢31 +2&001 + @Qz)

- N4(—g¢32¢12 + ¢112¢32 + 250(17522 +@Qz)]dx
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+ply [Ng[- Né(_%%l&n + ¢122¢31 + 20851 pH ;¢12 Q,)
Puds
2

+ 280y +

- NZ(—2¢32¢12 + @Qﬂ]dx

fg = plp [NyBidx+ pl,, [Ny,
+p(ly - Iz)J.NdW;,xv,de
s 2, 5 2
_prINd(W,x TVx )‘91,de

+pl PINd [Qy(v,x — Nygy; — Nggsp) + Q, (W, + Ny + Nagp, )ldx

RN AR R NP S SN s R R

B4 Al > 3L HHARE ¢

210 ~ % K| L2 FEEL
A& l"t3(282)'\’ *’E%E&l¢"§;{°§;\a% éf’f%’é%f'ldq¢#§ﬁép$

RS e B, (D(2107)5) 6§ - HAGUER A, 4 v E R e

T B
of;
D D
t ¢D+ O(T! fD+
:—G(Tng )dq¢+ ( o970 ) 24y dq¢+Hqu¢
oq, gy Oqy

=[H, +(Tgky + Hy) Ty, + Hgldg,
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_1OAXX 0 0 0 03X2

0 10A¥x 0 0 05,2
Ryx=| 0 0 A, 0 0y, (2.119)
0 0 0 1OAYX 03><2

L 003 055 053  0ys I

(2.120)

(2.121)

H,=—"1] (2.122)

B¢ KH s AR TEE R B S OA e B (239) & 2 & o o
Hgdgq, = (Ry, ~Ty)f,) 7 @ Hg o Hy ~ Hg 2 Hy £ 14x14 ch2t 4 fLaed
H A AR F g mihdk T oo

FI* BRI R 20 (2121) 2 kg ¥ o T At m fm S

(9f9+
kj =— (2.123)

5uj

#e f (i=a,b,c,d) £:4(2.103) % (2.104)58 2 £ (i=b,c) * 2 fIG,L#
F f,Gil @ uy ={up, Uy} o uj(j=b,c,d) e £(2.26)—(2.28)5 ¥ %k - 4E
LKy T oA AT RS

k,, = AEL(1+3¢,)G,G}, (2.124)
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kap =G,[AELGy+El, [Nplv ,,dx]

Kag =G {[El,[ N6, (dx+3El, [Ny6, ,,dx}

kpp = El, (1+£,) [NpNptdx+ 1, [NpNpdx

kpo = E(I, — 1) [ NINZGdx+ 3E ar,, [ NENL Gy X

+%GJ [ (NENZ —NENZ5YB, dX

kpg = E(1; = 1) [NENGW o dX+8E e, [ NENGW , dX

ko =Ely (1+6,) [NENG dx+ £, [NEN{ dx

keg =E(1, = 1,)[NENGV , dx+ 3Ea,,, [NENGV ,, dx

+%GJJ(N'CNQV,XX—N;;Ngv,X)dx

kgg ={GJ +El ,&,}[ NyNydx+ El,, (1+ 3go)jN’éN[;tdx+%EK, [NyNGOSdx
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FA e R == 2R G OV B W2 - I A AR 3
20 AR EARLL - AWML A AR PG AR R o A
PORR I LvE o H R MRAMZIE S O g2 - F -

AP RELMT 47 2

of,
0q 4
4y ={uy, ¢1, Ay, Uy, 02, o} (2.126)

29 f) 2k 6 (2.85)58 »F 114 21NN (i=abcd) s A &
U~ ¢ (j=12) Mul 4 §ahje@ st i B2 B4 it B o m 5 - $H
o )% B REIRZ o mT ol T ARE e A s

1, o '
Heij=abcd f 2QITNNZEEFEP 4 il (=a-d) 25 (D.42)
—(D.45) - #{D.38)—(D.41) ~ (2.26)—(2.30)% (2.117) & » (2.127) ¥ 17

m,, = pA[ N Njdx (2.128)
m,, =0
m,. =0
m,y =0

my, = pA[N,Npdx + pl, [ NpN{dx
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mbc :0

mbd =0

m = pAJ.NCNEdX+ ol yJ.N'CN::th
My = 0

mgy = pl, [NyNydx+ ol , [Ny Njdx

AE AR IEE T £ S
of,
04,4
4y ={0, b1 B U, 63, Bo3 (2.130)

B¢ f, %% (2.85) > 7 ud (2117)% il (i=ab,c,d) g @ &

‘¢J(J:112)'l”\ ":“;':’\!:'quéfk}i}‘ ?41"*&- }i ’fgﬂ;}'%%]}i/z’

c¥ d T AR L@ A

c —ﬁ (2.131)

1 au(f .
#¢ i j=ab,cdf %(2122)5 2 a BEfE 4 u/ (iza—d) ©.%*(D.42)
—(D.45) - #~(D.38)—(D.41) ~ (2.26)—(2.30) % (2.117)5" ¥ » (2.131)5% » ® 7
T 6 (2.117)5% ¢ 4 KA GIE BT ¢ T N e F

1

of )
B,

~0 (2.132)

Caa =
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ot X e
Cab = ﬁ = ZIOAINa[EGL —I(;(thV,XdX]
b

afl X . Xuqrt oo
Cac :ﬁ = 2ijNa[EGg — [ NEW dx]
of )
Cad =ﬁ=0
of, e
Cha = aub =-2pl zJ.NbGZV,de
a
|
Cop = 2% =-2pl, [ N,Np£odx
b
of, o
ch = _b :2pIZINbNJ01dX
ou,
of,) | =
de :ﬁzzplszbNEﬂW,XdX
d
of ] .
Coq = 81'1c ==2pl ychGgW,de
a
8fcl tA
C.p =—==—-2ply | NLiN 6,dx
ch D, pyI ctYp U1
of ] e
Co. = aucc =-2pl, [ NN &dx
of! i
ch =ﬁ=—2plychNgledX
d
of |
Cda:aud =0
a
O (1, = 1,) Na N =21, [Ny NG, 70
Cdb—a—/?( y = 1) [ NgNGW,dx -2l , [NyNp 6, (v ,dx
My _ I, — 1) [NyN, dx—2pl [N,N%6, W, d
cdc_al'l = p( y z)J dNeV xOX :Oa)_[ d N 01, xW xOX
C

49



&% sy 8% JR[6] K AL BB Sy dn e
T3 5T G e LR TR A S (2118)8 e 4
B SR BB 2 (2.128)(2.132)58 R 4B @ il ae it g S T Ak R

o 2T A S AR

k® = TokTSe, (2.133)
© =TeemTge,
® = TgpcTge,

Agg /0 0 0 0
0 Age 0 0 0
Tee=| 0. 0 (Age 0 0 (2.134)
0 0 0 A 0
0 000 0 I

Ho 02 - 3xBrFenF e > 02— 3x2rFenF Bt o 2 Age 5 (21)5% ¢ S48

B AR LR 2 L
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He
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Mgy =—
At
M
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At

B3 E AU, S v (3.21) ~(322)7 Et, Pzl 2 U, e & U,
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TGt R U P L 2R E2 w AU Ugr 7 8 =

. U, U

U,=—L =1L 3.26

0 AT (3.26)
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LAt
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- GIAEZ 2 | )46

Section geometry of | section:
d =1.13833ft,b =0.66625 ft

t; =0.044167 ft,t, =0.0254167 ft

A (ft?) 8.55395833x 10
I, (fth) 2.00754244 %1072
1, (fth) 2.17841917x107
K, (ft® 7.14374223%10°
J o (fth 4.40142265x107
1, (ft%) 6.53777783%10 *

Uy, (ft°) 6.51349773x10™*
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Section geometry of | section:
d =0.28194m,b=0.262636m

t; =0.028448m,t, =0.017272m

A (m’) 1.88229x 102
I, (m% 257464 x107
I, (m*) 8.50907 x10°°
K, (m°) 7.73902%10°°
3 (m% 4.41757 %107
l, (M) 1139226 x10°°

Ay, (M°) 1.37446x10°°




%2 bl w 2 A %o F

Section geometry of rectangle

section:

b=0.0254m,h=0.003175m

A (m)
Iy (M%)
I, (m")
K, (m%)
J (m’)
l, (M)

& wyz (me)

8.0645x10°
6.7746 x1071
4.33574%x107°
4.26974x10"**
2.49635% 10

3.40166 x10=°
~3.51652x107
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Section geometry of | section:
d =1.80167 ft ,b =0.70167 ft

t; =0.0775ft,t, =0.04833 ft

A (ft?) 0.18834722
1 (ft4) 0.09886622
1, (ft*) 4.4776331x10.°
K, (ft®) 7.4600869 %10 2
J(fth 2.7971933x107"
1, (ft°) 3.368x10°3

Uy (ft°) 3.317473x10°°
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Section geometry of rectangle
section:
b=0.1m,h=0.05m

A (m’) 5x1073

I, (m®) 1.04167 x107
I, (m*) 4.16667 x10°°
K, (m°)

J (mh

1, (m°

X oz (me)
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22 GRS B R A

Present Analytical

Time
X720 m)  XF(m)  XFm)  X{"(m)  XF(m) X3 (m)

(sec)
0 0.0 0.0 0.83333 0.0 0.0 0.83333
2.5 -0.00115 0.1608  0.83333 0.0 0.1606  0.83333
5 -0.00642 1.2860  0.83308 0.0 1.2850 0.83333
7.5 0.05195 4.43402  10.83284 0.0 4.3369 0.83333
10 0.10072 10.2881  0.83369 0.0 10.2800 0.83333
12.5 0.05660 19.9330 0.83337 0:.0 19.9237 0.83333
15 0.19428 33.4371 0.83337 0.0 33.4250 0.83333
17.5 0.28706 50.7986 0.83295 0.0 50.7838 0.83333
20 0.48615 72.0182 0.83271 0.0 72.0000 0.83333

o XM (i=123) % foihm i SRS RS CBt=0@ D} -
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3o BIRES 2 1A

Section geometry of | section:
d =1.80167 ft ,b =0.70167 ft

t; =0.0775ft,t, =0.04833 ft

A (ft?) 0.18834722
1 (ft4) 0.09886622
1, (ft*) 4.4776331x10.°
K, (ft®) 7.4600869 %10 2
J(fth 2.7971933x107"
1, (ft°) 3.368x10°3

Uy, (ft°) 3.317473x10°°




Section geometry of symmetric cross

section:

L=2.4m,b=0.06m,h=0.1Im

t=5x10"°m, p=7.8x10°kg/m®

G =8.076923077 x10'° N/m?

A (m?)
I, (m*)
I, (m*)
Ky (m®)
J (mh
l, (m°)

& oyz (m6)

7.75x107*
4.1724x10°"

9.09896x10°®
6.7571675%10
6.4583333x10™°
1.055447 x107*?

6:8066406 %107
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Displacement
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Load P(kip)
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Displacement Ug(1 O'3ft)
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Displacement (10'2ft)
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